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Q.No: 1 What is the name of the only organic state of India?

2426890
HRA & THHE A9 I FI TH F1 82
Himachal Pradesh
A
TR v
Odisha
B
s
Sikkim
C
Rifapa
Manipur
D
o

Correct Ans : C

Subject : General Knowledge

Q.No: 2 Pratihars belonged to which family?

2426921

iR & aRar & 2

Sun Family (Surya-Vanshi)
A

T afvare (-t

Moon Family (Chandra-Vanshi)
B

A QRS TRAR (-

Fire Family (Agni-Kula)
C

31 afaR (3f-ga)

Wind Family (Vayu-Kula )
D

Y URaR (ag-$a)
Correct Ans : C

Subject : General Knowledge

Q.No: 3 Choose false statement about Buddhism.

2426941
g ol ¥ SR H Ted B TH
A Buddhist monk ‘Ashvaghosa’ converted Kanishka to Buddhism.
A
T i g s 3 e @ g ol F fvafda @ R
During the reign of Huvishka, Buddhism got split into 2 sects.
B
B & IR et H sl o S vt # i &
Buddha died at Kusinagar.
C

e P T TR A g

D Stupas are related to mortal remains of Buddha.
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T EE T TR a0 § Wi B

Correct Ans : B

Subject : General Knowledge

Q.No: 4 Which statement is correct regarding 'Kalingattuparani' ?

2426953
"BRATCERAY F Ade H $H T H37 T 82
It is a 12th century poem and war song by Jayankondar.
A
g SaP<R 3 1241 9t B Haar ok gz Ma Bl
A form of Martial arts.
B
TR ST FT TH FI
Tamil translation of the Ramayana.
C
AR T qiHd Sarg |
Religious book of Tamils.
D

aftret @t enfifes Qe

Correct Ans : A

Subject : General Knowledge

Q.No: 5  The dance of which eastern state of India comes under the category of Indian Classical Dance?

2427009
R & v odf sy 1 T URAT uRdlg o @t ol B s 82
Jharkhand
A
FIRES
West Bengal
B
uf¥H e
Chattisgarh
C
Bl
Odisha
D
ffd=m

Correct Ans : D

Subject : General Knowledge

Q.No: 6  ‘Kolam’ masks are worn by ____ dancers.
2427021
PIGH AR P gRT Ug S 2
Mohiniyattam
A
Afgarga
Padayani
B
Teay
Oppana
C
g
ParaiAttam
D
WA

Correct Ans : B

Subject : General Knowledge


https://applink.adda247.com/d/XhqWf9lSap

Addai2y7 Eoogle Play

Q.No: 7 Which of the following Indian cricketer was not honored with Rajiv Gandhi Khel Ratna Award?

2427507
e 7 @ g uRella fbdpex 31 Tella i Bat 70 WepR J gty 1t fovan man 2
Virat Kohli
A
farre igel
Rohit Sharma
B
e <l
MS Dhoni
C
LCAGRIG
Rahul Dravid
D
g 5

Correct Ans : D

Subject : General Knowledge

Q.No: 8  Who won the first medal for India in Tokyo Olympics?

2427526
el Sfrifiti § WRd & I vger qee feA fiare
Mirabai Chanu
A
e =,
PV Sindhu
B
e Ry
Lovlina Borgohain
C
AT SRR
Ravi Kumar Dahiya
D

I $AR afear
Correct Ans : A

Subject : General Knowledge

Q.No: 9 13th BRICS summit 2021 was held under the chairmanship of which country?

2428892
13 9f oo e wHier 2021 & I @1 sremerar § Smafor fovan mm ure
South Africa
A
Epgdcal
Russia
B
=4
India
C
HRd
Brazil
D
EIEi]

Correct Ans : C

Subject : General Knowledge

Q.No: 10 Who led the gold medal winning Indian hockey team in the 1928 Olympics?
2430522

1928 3i1eifte # ol yee fowrar wRdia giat d &1 Ag@ e feare
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A Major Dhyan Chand

TR =S
Jaipal Singh Munda

B
Srarer Rig get
Kishan Lal
C
e o
Lal Singh Bokhari
D

i Rig drert
Correct Ans : B

Subject : General Knowledge

Q.No: 11 What is considered to be the period of credit boom?

2434052
Hfee 0 BT R PR A AR 2
2000-01 to 2008-09

A
2000-01 ¥ 2008-09
2008-09 to 2015-16

B
2008-09 ¥ 2015-16
2004-05 to 2008-09

c
2004-05 ¥ 2008-09
2015-16 to 2020-21

D

2015-16 ¥ 2020-21
Correct Ans : C

Subject : General Knowledge

Q.No: 12 Madhya Pradesh government was the in India to establish Tulsi Academy.
2441041
T TN WRPR YRA § JodT Sp1eH! B RATAT $ arett TR 4
first
A
REC]
second
B
[
third
Cc
ded
fourth
D
G

Correct Ans : A

Subject : General Knowledge

Q.No: 13 Who out of the following was also known as “Bhu-Gandharva”?

2441056
Froffea & @ fBd »yied” & A F off S e 4
Tansen

A
A

B Ustad Allauddin Khan
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TS ASHH G
Rehmat Khan
C
TEHd I
Ustad Haddu Khan
D

IS 7qg I
Correct Ans : C

Subject : General Knowledge

Q.No: 14 Simhastha in Madhya Pradesh is held in -

2441078
Y YW ¥ Rigwy omifort foan wman @ -
Chitrakoot
A
REF
Omkareshwar
B
SrBAR
Ujjain
(of
sl
Orchha
D
st

Correct Ans : C

Subject : General Knowledge

Q.No: 15 How many rock shelters does Bhimbetka have?

2441357

e # fra e 22

Around 140
A

TTHT 140

Around 393
B

THT 393

Around 243
(o]

TIHT 243

Around 503
D

THT 503

Correct Ans : C

Subject : General Knowledge

Q.No: 16 The city of Mandu is adorned with spell binding architecture.
2441377
WG MR U AR AN aregeper & Gl &)
Afghan
A
B
Turkish
B
Tl

C Dravidian
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Roman

I

Correct Ans : A

Subject : General Knowledge

Q.No: 17 vikram Udyogpuri Project (Integrated Industrial Township) is located in which District of Madhya Pradesh?

2441649
facem SEgd ufedier (Taipa SNelfie TraAiim) Hed e & by o # fRud 82
Indore
A
R
Ujjain
B
IS
Bhopal
C
ure
Gwalior
D
R

Correct Ans : B

Subject : General Knowledge

Q.No: 18 Madhya Pradesh rank among Indian states in ease of doing business ranking 2019 conducted by Business Reforms Action Plan 2018-19 is-

2441658
IR YUR HRE AT 2018-19 GRT HAT TR A H S (39 i 571 fawme) 2019 & R Il § 9e1 19 136 § -
4th

A
<kt
7th

B
wradt
Sth

c
gradt
10th

D
wdt

Correct Ans : A
Subject : General Knowledge

Q.No: 19 Where is the Crystal IT Park situated?

2441671
o ot o el Ra B2
Indore
A
@R
Vidisha
B
fafe=m
Sagar
G
R
Burhanpur
D
TERAR

Correct Ans : A
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Subject : General Knowledge

Q.No: 20 Indian Institute of Soyabean Research is located in which district of Madhya Pradesh?

2441685
YR Wi Siien U e T3w & fopw fory & fRya &2
Ujjain
A
il
Indore
B
R
Jabalur
C
SR
Hoshangabad
D
BTG

Correct Ans : B

Subject : General Knowledge

Q.No: 21 Aparch the following:

2422817

1. | Cholera Shigella bacteria
Dysentery Salmonella
Salmonellosis | ¢ Vibrio cholerae

o'|m

wlto

1-c,2-b,3-a

1.c,2.b,3.a

1-a,2-b,3-c

1.a,2.b,3.c

1-b,2-3,3-c

1-b,2-3,3-c

1-c,2-a,3-b

1-c,2-3,3-b
Correct Ans : D

Subject : General Science

Q.No: 22 Run-off water is

2422834

3{UTE W §

The water unavailable to the plants and causes mineral leaching.
A

Ut et & T srguas § SR Wi SRR $1 SR a7 B

The water which contributes to the capillary water.
B

o S e arh # e & 3

C The water that is vital for the earth.
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T o Tt 3 T e €1

The water that does not combine with the rivers and channels to form lakes and streams.

9% Ut S A iR 2l & Ay e sftl ok A 3 Fmior TEF var 71

Correct Ans : A

Subject : General Science

Q.No: 23 Which among the following is not a process that comes under the water cycle?

2422835
Fofifed & & 31 o 9% $ ofwfd om arh ufsm 74 32
Biomagnification
A
Eclicbns
Condensation
B
o
Sublimation
Cc
I T @ b
Precipitation
D

g0

Correct Ans : A

Subject : General Science

Q.No: 24 HIV stands for -

2422995
HIV T e 3 -
Human Immune Victim
A
T T fafden
Humanoid Immediate Vector
B
TS daeR FHfsTe
Human Immunodeficiency Virus
C
TG TS ORI ara
Highly Immuno Vacant
D

el 9 3%
Correct Ans : C

Subject : General Science

Q.No: 25 Rabiesisa _____

2422996
W 3l
Vaccine
A
&
Viral disease
B
[ELIEIECRI
Bacterial disease
C
Shargy T
Naturally occuring disease
D

WIS ¥ § g arelt Sar
Correct Ans : B

Subject : General Science
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Q.No: 26 Which disease is considered to be fatal?

2422998
PV T AT IS HA S 82
Typhoid
A
ElEA
Diabetes
B
YR
Common cold
C
A HTH
Rabies
D
Ecic]

Correct Ans : D

Subject : General Science

Q.No: 27 Which of the following crop is not a fibre crop?

2428012
Fraferea & § 1 @ wua WeR 9 T4 82
cotton
A
U
jute
B
S
flax and sun hemp
C
et o S
paddy
D
)

Correct Ans : D

Subject : General Science

Q.No: 28 Which among the following is not the characteristic of a dicotyledonous plant?

2428026
frafefea & § o1 fodiorh delf 1 v 741 82
Wide leaves
A
gt ufat
Two cotyledons
B
QY o
Floral parts in a group of four or five
C
IR 1 UG & 9Ug T T 4FT
floral parts in a group of three
D

Gigk v kg ekl
Correct Ans : D

Subject : General Science

Q.No: 29 Check the odd one out:
2428780

fawm 1 &g Y
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A Cyanobacteria
rEET
Prokaryotic bacteria
B
wHRdfes e
Blue-green algae
C
e g1 St
Multicellular organisms
D

DRI Sfa
Correct Ans : D

Subject : General Science

Q.No: 30 Which of the following is considered as a pollution indicator?

2428812
e & & 8 Tgu 1 g@& HHT ST 82
lichen
A
B
Mycorrhizae
B
HEBRIESN
rhizobium
C
s
spirillum
D
o™

Correct Ans : A

Subject : General Science

Q.No: 31  Which of the options are correct meanings of the symbols?

2429005
T ¥ e wiel & wdt of § 2
Save soil
A
orgt qmmeh
Save solar energy
B
R ol sl
Save water
C
TR e
Save plastic
D

fRE sl

Correct Ans : C

Subject : General Science

Q.No: 32 Which of the following are not the preventive measures against fungal diseases?
2429017

FraffEd & A 91 wae W F Rae Fare o 761 §

No sharing of personal grooming tools.

AfFTTd YT T B = A B

B No sharing of utensils and clothes and other things of usage.

GET IT ON

Google Play
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T 3R P SR IUGHT BT o7 ST B W T BTN

Avoid direct contact with person

fed & ar Y Hob F

Physical hygiene

TRINF W=l
Correct Ans : C

Subject : General Science

Q.No: 33 It necessary to safely store the pathogens of a disease against which vaccines are to be produced?

2429018
et St & At B Wi TY F TR BT siaRae § s e At o1 Iare fhar s 2
Vaccines provide bacteria
A
&% JIea e F 3
Vaccines provide dengue
B
AP ST Ve IR §
Vaccines provide immunity
C
& e veH wa §
Vaccines provide virus
D

A I UGH R §
Correct Ans : C

Subject : General Science

Q.No: 34 __ articles or bags break off and get torn easily.
2430053
_ e  a o @ e ofR e T §
Leather
A
Erc
Plastic
B
s
Iron
C
i
Polymer
D
P

Correct Ans : A

Subject : General Science

Q.No: 35 Which one of the following is not a type of fuel?

2430085
Pl # 4 &5 A U6 TR 1 e T 82
Solid fuels
A
o e
Liquid fuels
B
W e

C Gaseous fuel
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I g

Stream fuel

4o
Correct Ans : D

Subject : General Science

Q.No: 36 Karina is mother-in-law of Hema ,who is sister-in-law of Amit. Deepak is father of Suman, the only brother of Amit. How is Karina related to Amit?

2422454
I T B AN g, S i B umdt 31 due, oftd & I@dia Ui A &1 i 81 B T siftd § e gy g
Mother-in-law
A
Rk
Aunt
B
G
Mother
C
ai
Wife
D
Tt

Correct Ans : C

Subject : General Reasoning

Q.No: 37 A is the mother of B. B is the wife of C. C is the son of D’s maternal uncle. How is B related to D?

2422476
A, B U@IZIB, CH UM R C, D F IMI &1 G 31 B, D I 5y wopR v 2
Maternal sister-in-law
A
T anh
Maternal aunt
B
o
Sister
C
St
Brother
D
uré

Correct Ans : A

Subject : General Reasoning

Q.No: 38 Find the wrong term in the series?
2422589

97, 86, 73, 58, 45, 34

el | TTeId $hH T Yl TE?

97, 86, 73, 58, 45, 34
58

58
73

73
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34

45

45
Correct Ans : D

Subject : General Reasoning

Q.No: 39 Find the wrong term in the series?

2422609
3,8, 13,24, 41, 68
el # TTAd H BT ol aa?
3,8, 13, 24, 41, 68
68

A
68
41

B
41
24

¢
24
3

D
3

Correct Ans : A

Subject : General Reasoning

Q.No: 40  Find the odd word out.

2424517
SR Xeq B T BIoY
Brahmaputra
A
SR
Yamuna
B
g
Narmada
C
fer
Indus
D
ey

Correct Ans : C

Subject : General Reasoning

Q.No: 41 Find the number of triangles in the given figure.
2425648

> ™

9 i § Bye =t Jem i IR

o ™
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A 28
28
29
B
29
27
C
27
30
D
30

Correct Ans : B

Subject : General Reasoning

Q.No: 42 Select the letter-cluster that is related to the third letter-cluster in the same way as the second letter-cluster is related to the first letter-cluster.

2426295
VXZ :JLN :: GIK : ?
I eR-THG BT IUT B o) e 31eR-T7E U I UPR Geifa § SR uRT 31eR-9IE, T SHER-TE & wafde 71
VXZ : JLN :: GIK : ?
Qso
A
Qso
QRS
B
QRS
uwy
C
uwy
LMO
D
LMO

Correct Ans : C
Subject : General Reasoning

8‘-"\120623‘;35 Select the option /number which is related to 3" number in the same way as 28 number is related to a
1st number?

4901213169 :?

3H TEAT /ReeT & 98 F A Y TS § FH IHR FaUd § oY gE0 HEAT qgal
T ¥ wERT
4912132169 :?

289

289
361

361
225

225
100

100
Correct Ans : A

Subject : General Reasoning

Q.No: 44
2426416
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Select the option /number which is related to 3™ number in the same way as 28¢ number is related to a
1t number?
4:21%a:?

3T TEAT /AT & T97 F{ S WY TEW F 3 YHR Fafod § S @l §Ea qgen
T ¥ wefd ¢ 1
4:21%a:?

a+ a?

a+a?

1+4a+a?

1+a+a?
as+1

a+1

Correct Ans : B

Subject : General Reasoning

Q.No: 45  Which of the following groups best represents the given diagram?

2426560
Frofifea & § o1 w1 wig fiu 7T oive &1 vad o ufafAfa & 82
Couple, Male, Female
A
T, Te, AR
Water, Sugar, Salt
B
o, AR, e
Mother, Father, Daughter
C
=, fra, 3¢
Police, Male, Thief
D

R, 9o, 1R

Correct Ans : A

Subject : General Reasoning

Q.No: 46 In the given diagram, Circle represents Singer, Triangle represents Lyricist and Square represents Music Director.
2426605

How many Singers are Music Director?

e mu s #, g9 TF & yiaAia S 8, Bye faer @1 vlfifva e @ ok o e s o ufafifia s @1
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1
Correct Ans : A

Subject : General Reasoning

Q.No: 47 Select the option that is related to the third term in the same way as the second term is related to the first term.

2429536
FKLM : BNIN :: HPRS : ?
39 faded 1 707 B o R U8 § ST TPR FEld § 9 3O U Ued Ue § 9aid g
FKLM : BNJN :: HPRS : ?
DSPR
A
DSPR
DSPS
B
DSPS
DSPT
c
DSPT
DSPU
D
DSPU

Correct Ans : C

Subject : General Reasoning

Q.No: 48 Qazi is the brother of Rahman. Rahman is the daughter of Prem. Prem is the husband of Atul. How is Qazi related to Atul?

2429575
FToll, YA &1 UK 71 50H, T0 3 T 31 0, o ga &1 ufd §1 Frof, orga & frw UHR wafda 82
Father
A
foar
Uncle
B
Eleact
Son-in-law
C
QIS
Son
D
kel

Correct Ans : D

Subject : General Reasoning
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Q.No: 49 Which answer figure will complete the pattern in the question figure?
2433197

B W IR PR, T P F e 1 ol it

N
N
N 2
A
B
\
I~
c
\
™~
D

Correct Ans : A

Subject : General Reasoning

Q.No: 50 Identify the figure that completes the pattern.

)
WCED

IG MPa P UgaE B3 Sl Oe 3 @ Hed B

? KO
CED
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@&
®)
)

Correct Ans : A

Subject : General Reasoning

Q.No: 51 Select the option that is related to the third number in the same way as the second number is related to the first number.

2434888
4:14::9:7?
39 famed B T99 B S R T I yeR Tefia & S ge e, gt vem 3 9efia §
4:14::9:?
19
A
19
16
B
16
13
C
13
11
D
11

Correct Ans : A

Subject : General Reasoning

Q.No: 52 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440182 logically consistent with the main statement.

If you use smart phone, you will use internet
A. You used smart phone
B. You will use internet

C. You did not use smart phone


https://applink.adda247.com/d/XhqWf9lSap

Addai2y7 Eoogle Play

D. You did not use internet

R T gy B 9@ H4F SR IS 918 TR HUF §1 HY BT AT GH T, T8 Ugd ST BT A GO B W 7, R & FUF dfPP FY ¥ T FUT A T 51
SR 319 W B BT TAHT A ¢ A1 31U FeRAT BT FRAH PRt

A. 3T FIE B BT T fbar

B. 37 $TAC H1 JTAM S

C. ST T BF HT1 Iua 7Y e

D. 307 $TIC T IUaNT el

AB
A

AB

BA
B

BA

DA
C

DA

CcD
D

CcD

Correct Ans : A

Subject : General Reasoning

Q.No: 53 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440214 logically consistent with the main statement.

If new tax system is implemented, there will be one tax for all.
A. new tax system was implemented

B. new tax system was not implemented

C. there will be one tax for all.

D. there are different taxes for all.

R T gy H 4B HF SR IS 918 TR HUF §1 HYH BT AT GH T, T8 T5d HUT BT A TR DY W 7, R & FUF dfbP TY Y T FUT A T 7
T 7§ FR vomeht AL St 7, o Wi & o T R gl

A. 7T S ot @ T

B.E SR WU ARY TE B T

C. 9t & forg T e gl

D. i ¥ g ofem-srent 2o €1

AC
A

AC

BC
B

BC

DA
C

DA

CcD
D

CcD

Correct Ans : A

Subject : General Reasoning

Q.No: 54 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440261 |ggically consistent with the main statement.

If medical colleges increase the tuition fee, there will be unrest among students
A. medical colleges increased the tuition fee
B. medical colleges did not increase the tuition fee

C. there was unrest among students
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D. there was no unrest among students

fu g vy § 1 FU SR IS 1 TR FUA | Y BT B G T, o1 Ted YA B Al g A ¥ B, 3R & Ty e U § 481 $UT F 9 3
Afged Bids A I B T15 @ BEl A grll smiifa

A. TiEHa Ficrsit A T8 SRE BE

B. ST Drael A ¢ 9g18 R B

C. ot # arifa

D. B # P AT 7Y <&t

BD

BD
BC

BC
DA

DA
DB

DB
Correct Ans : D

Subject : General Reasoning
Q.No: 55 Select the option that is related to the third term in the same way as the second term is related to the first term.
2441955

PS:MV:i:Gl:?

I faed &1 997 X W TRR ug F S TR W § RORT TR R ug ued ug ¥ el § |

PS:MV::G):?

EM
A

EM

DN
B

DN

EN
C

EN

DM
D

DM

Correct Ans : D

Subject : General Reasoning

QNO: 56 Gimnlifur 16— (15— 8 <2
2422335 Simplify: 16 - (15-8+2)

WA BINTE16— (15 -8 +2)

5
A

5

14
B

14

10
C

10

e

GET IT ON

Google Play
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27

Correct Ans : B

Subject : General Maths

Q.No: 57 girtiec 45 [5 =742 (16—
2422364 Smplify:45-[5={7-2(16-13)}]

WA DI 45-[5+{7+2(16-13)}]

30
A

30

27
B

27

28
C

28

-27
D

-27

Correct Ans : B
Subject : General Maths

Q.No: 58 . . , 1 . .
2423601 Find the compound interest on Rs.1150 at the rate of 6% per annum for 1; vears when interest is

compounded half vearly.

1150mv?ra:r1§ﬁ$msea@ﬁﬁaémﬁmmmmms{¢
affs w0 & Ao fomar mar 31

Rs.146.83
A
Rs.146.83
Rs.145.52
B
Rs.145.52
Rs.178.65
C
Rs.178.65
Rs.219.6684
D
Rs.219.6684

Correct Ans : D

Subject : General Maths

Q.No: 59 Find the compound interest on Rs.3580 for 9 months at 20% per annum compounded quarterly.

2423616
3580 TU HT 20% Wfa oY F X § 9 TEM &1 IwHgf s I B, I s A 3 )
Rs.233.5315
A
Rs.233.5315
Rs.245.1243
B
Rs.245.1243
Rs.891.628
o

Rs.891.628
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D KS.J04.297D

Rs.964.2975
Correct Ans : D

Subject : General Maths

Q.No: 60 Solve:

2428581
[25%x3-3.3+3+545-(22.5+ 2.5+ 3.65 x 2-4.45 x 2)]
ukas
[2.5 % 3-3.3% 34 5.45 - (22.5 + 2.5 + 3.65 x 2 - 4.45 x 2)]
3.45
A
3.45
4.45
B
a.45
4.55
C
4.55
5.45
D
5.45

Correct Ans : B

Subject : General Maths

Q.No: 61 Rajan needs 80 rupees on average for food every day. If he has 480 rupees with him, how long will it last him?

2432522
IO &1 AT EA P T Sia 80 FUT H SR Sl o1 Ife SUF U 480 I ¥, I 98 FE a deT?
13
A
13
8
B
8
6
c
6
3
D
3

Correct Ans : C

Subject : General Maths

Q.No: 62 The square of a positive integer is more than its five times by 14. What is the positive integer?

2434687
TS GRS QUlies 1 e 59 Ui o1 A 14 3P 31 YRS Quifes T BRIT?
a
A
a
2
B
2
7
c
7
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9

Correct Ans : C

Subject : General Maths

Z

Q.No: 63 .
y-2z is

2434737 Ifx +y =2z, then the value of

x -
x-z

gfe x +y =228, dl x-2 v-2hl A R

1
A
1
2
B
2
xyz
C
Xyz
1]
D
1]

Correct Ans : A

Subject : General Maths

Q.No: 64
2434767 x[4- _] =
If

. then the value of x? —x-3 is equal to:

xg, dl %3 — x5 A fh¥d R g:

4-3] 3
X

o

17
64

171
64

171
64

-117
64

-117
64
Correct Ans : C

Subject : General Maths

Q.No: 65 Ram buys an article for Rs. 25.50 and sells it to Ramesh for Rs. 26.52. Find his gain percent.
2435212

M TF T BT 25.50 TUA H§ Wigar & iR I a%g B W DY 26.52 94 T IIdl 1 IAHT Y TR 19 DIl
A 3%
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w
3
o~

s
o
2

4a
o
o~

wy
o
o~

w
o
o~

[}
P34

6%
Correct Ans : B

Subject : General Maths

Q.No: 66 If the cost price of 8 pens is same as the selling price of 6 pens, then the gain percent is

2435232

g 8 U1 1 H9-Hed 6 U & fapd-Ted & SRR 8, ol @y wfowa §

33:%
A

33&93

11%93
B

1t

13§93
c

13; %

25%
D

25%

Correct Ans : A

Subject : General Maths

Q.No: 67 A battery is sold at 20% profit. If this battery is bought at 10% less price and sold at a lower price of Rs. 45, then there is a profit of 25%. Find the cost price of a battery?

2435292
TF Tt 20% F aH R I e 71 A1 39 T8 Y 10% FH P | WA I 3§ 3R I 45 TG FH R 91 11 3, 6 25% FT A Gl g1 A 28 T antd eI J1d Piforr?
600
A
600
400
B
400
500
c
500
700
D
700

Correct Ans : A

Subject : General Maths

QNo: 68 2, 3.
2437470 3735
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6
g

Correct Ans : B

Subject : General Maths

Q.No: 69 ) 1 P I
2437490 Howmany ¢ are there in 33 2
3B
30

30
10

10
20

20
35

35
Correct Ans : A

Subject : General Maths

Q.No: 70 dv+ 3y

e v =7-5 3 H s
2437550 Ifx:y=2:5 then whatis the value of §

RAY

qax:y=2:5%,?h h—?:“aﬂqﬁw%"
Jv -3y

15
A
15
3
B
3
3
2
C
3
2

o
o

|
~.l.

.‘\"

GET IT ON

Google Play
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()

3

7

Correct Ans : D

Subject : General Maths

Q.No: 71 If in a symbolic language ‘NOIDA’ is written *STNIF’ then ‘MEERUT” will be written in the same language as?

2422539

T it |idbfa® Wi & 'NOIDA' BT 'STNIF' fam ST @ 'MEERUT' &1 IH! HIoT # frar o foresi?

QIIVYX
A

QIIVYX

RIIWZV
B

RIIWZV

RIIWZY
c

RIIWZY

RIIVYX
D

RIIVYX

Correct Ans : C
Subject : Mental Ability

Q.No: 72 If in a symbolic language ‘PILOT" is written *"MFILQ’ then ‘TRAIN’ will be written in the same language as?

2422569

g et ibfaem WIS # 'PILOT' 1 'MFILQ' kAT ST @l “TRAIN' 1 It w1 # feran smem for?

QOXFK
A

QOXFK

QUXLK
B

QUXLK

QODLK
C

QODLK

QVDFK
D

QVDFK

Correct Ans : A
Subject : Mental Ability

Q.No: 73 Tp a row of girls, X is 15th from right end the Y is 20% from left end. Find how many girls are in between
2425587 1% = =

58 TSfgl @I U Ufed #, X <l 8R ¥ 158 ™A W 3 AR Y G BR I 20a1 ¥1 X 3R ¥ & di9 A o wsforat §2

16
A

16

17
B

17

19
C

19

15
D

15

Correct Ans : A
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Subject : Mental Ability

Q.No: 74 If MACHINE is coded as 19-7-9-14-15-20-11, how will you code DANGER?

2426505
Tl MACHINE @1 19-7-9-14-15-20-11 & &9 & $ifSd {5 Siar g, o ST DANGER $Y $dl Bl Heil?
10-7-20-13-11-24
A
10-7-20-13-11-24
11-7-20-16-11-24
B
11-7-20-16-11-24
13-7-20-9-11-25
C
13-7-20-9-11-25
13-7-20-10-11-25
D

13-7-20-10-11-25
Correct Ans : A
Subject : Mental Ability

Q.No: 75 Identify the set for the number ROCHEL.

2426535

&% ROCHEL & fog 98t 9= 3t ugaH it

694573
A

694573

693578
B

693578

673958
C

673958

693857
D

693857

Correct Ans : A
Subject : Mental Ability

Q.No: 76 In the following questions, two statements are given followed by two conclusions (I) and (II). You have to consider the statements to be true even if they seem to be at varian
2430220 rom commonly known facts. You are to decide which of the given conclusions, if any, follow from the given statements. Indicate your answer.

Statements:

China faced growing international opposition for its decision to explode eight nuclear weapons in its test site.
Conclusions:

I The citizens of China favored the decision of our country.

II Some powerful countries do not want another country to become as powerful as they are.

Frofafad udl &, & Sy Q) i 1, 11 BT SRR FRd § S1UD! GFT H4A TR AR & g, v & 3 SmiaR W 9rd ail ¥ welia a9 &l | sast i fAw e sl & afg fsed & s e

P I BT (0 T W F 1S WA FAAR AP B3 & o FAufa & g sgd SIaRwigia fady @1 Jroe1 & et
s

L 99 & AT 7 o & & Tud B e e

11. T Nfda=mel 32 T8 aed i ot &% I S wifdRmeh &

Only conclusion I follows

Faer Fepd T SR BT

B Only conclusion II follows
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et AP I1 SRR 6l §
Either I or II follows

C
T T 9T 1T SR IRl §
Neither I nor II follow

D

T I AR AT LI RO Fr &
Correct Ans : D

Subject : Mental Ability

Q.No: 77 In the following questions, two statements are given followed by two conclusions (I) and (II). You have to consider the statements to be true even if they seem to be at varian
2430249 from commonly known facts. You are to decide which of the given conclusions, if any, follow from the given statements. Indicate your answer.

Statements: Good talent is a natural gift but one has to keep practicing to be improved and increased well
Conclusions:
1. Natural gifts need care.

II. Even though your talent is not good, one can keep practicing to improve it.

Frofefad vl &, < S € Ay 1, 11 61 SFRRU G- 8 Sua! gF1 SoAl W IR & 8, 4 € 3 sk W 1 aadl & wela 89 @il snuet B R e s  afe P & dt et T

PY: S UfaHT T UIPTad SUER § A IaR g SR 3] TRe ¥ gl & f o &l 61 1fey
ﬁﬁﬂf:

1. WIPfas IURRY $) LU P TR g

fadia. we € st vfau st T ¥, R ot 3T 38 GURA & Y anarg FRa I8 ad Bl

Only conclusion I follows

A
Frae i 1 TR e §
Only conclusion II follows
B
Faa Py 11 SRR Hva §
Either I or II follows
C
T I a7 1T SR Rl §
Neither I nor II follows
D

Td I R 11 4TER0 B ¥
Correct Ans : A
Subject : Mental Ability

Q.No: 78 In question below are two statements followed by two conclusions numbered I and II. You have to take the given statements to be true even if they seem to be at variance fro
2435462 commonly facts and then decide which of the given conclusions logically follows from the given statements.

Statements:

I. Some swift are I10.

II. Some 110 are alto.

Conclusions:

I. Some alto are I10.

II. Some alto are swift.

Option A: Either conclusion I or II follows.
Option B: Neither conclusion I nor II follows.
Option C: Only conclusion I follows.

Option D: Both conclusions I and II follows.

=1 o gy & <) Hu SR ITF T1e < s 18R 11 U Y 1 st o Y el Y T AT R, IR 3 WHING: i a9 i udla g 7, s iy owen € fb Ry g el § 9§ B
sy e T SR el B

FY:
1. $9 fRwe 110 B
I1. $© 110 3N &1
e
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1. $B offcel 110 Bl
I1. 3% T e §l

Either conclusion I or II follows.

a1 <t s 17 11 SRR BRaT B

Neither conclusion I nor II follows.

T feme 1 3R T € 11 SR P B

Only conclusion I follows.

o ey I R0 SRl 21

Both conclusions I and II follows.

I frep 1 iR 11 SRR Ra §
Correct Ans : C
Subject : Mental Ability

Q.No: 79 Two statements are given followed by three conclusions numbered I, II and III. Assuming the statements to be true, even if they seem to be at variance with commonly knowr
2435522 (ecide which of the conclusions logically follow(s) from the statements.

Statements :

Some Radius are Diameter.
All Radius are Circles.
Conclusions :

1. Some diameter are circles.
II. Some diameter are radius.

III. Some circles are radius.

< FYl & 915 A ey F@ 1, 11 SR 111 AT Y ¥ T Y Fet Y I T g, A @ A o dR W I audl F g faeRvr v €, 97 fvfg & 5 e § 3 9 @ e R e s sar
FU Y SR HA 5

B
Fo A3ud, sEfieR B
o W, wba g
ey

1. $ SUHIR, THd Bl
11. 3% SR, Yeaw gl
11 $o T, g €

Ether conclusion I or III follows.

a1 at Sy 191 IIT SER Sal &

Only conclusion I and II follow

Paa =Y 1 3R 11 SR T §

Only conclusion I and III follow

Faer Fspd I 3R 11 TR0 o3 §

All the conclusions I, IT and III follow

it e 1, 11 R IIT SRV HR §
Correct Ans : D
Subject : Mental Ability

%‘“‘3"8:5?5 In the following question, the statements are followed by conclusions. Study the conclusions based on the given
statements and select the appropriate option as your answer.
Statements:
Y=PRP<L<FF2LL=K
Conclusions:
I.LF=K
II. F>K
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frataled 92 &, Fuat & arg faved fgu o g

TEU 31T @erell & HTUR T TeTschd T HeTTar B N HTA ook & &9 A 3Ugard fadwed o a8 H
FHu:

Y=PP<FRF2LL=K

foreand:

LF=K

IL.F>K

If only Conclusion I follows

A
Faa A 1 9T R
If only Conclusion II follows
B
Faa Py 1190 ¥
If either Conclusion I or II follows
C
el 1A I W
If neither Conclusion I nor II follows
D

TAS I IRTA I TTR
Correct Ans : C
Subject : Mental Ability

(22:\‘308:58616 In the following question, the statements are followed by conclusions. Study the conclusions based on the given
statements and select the appropriate option as your answer.
Statements:
R=S2T>V
Conclusions:
I.S>V
I. T<KR

fraAtaiad 92 &, Fuat & g s U o g

U 1T &yl & IUR IR TAechy T 3eddar BT 3R T Ik & F9 o 3Ugad famed & a8 F
FU:

R=S2T>V

foread:

LS>V

ILT<R

If only Conclusion I is true

A
Faa s 1 9T R
If only Conclusion II is true
B
Faa e 11T R
If either Conclusion I or II is true
C
gt frpd 1T 1 W@ d
If neither Conclusion I nor II is true
D

Tdff RS v

Correct Ans : A
Subject : Mental Ability

%"“3‘;58925 In the following question, the statements are followed by conclusions. Study the conclusions based on the given
statements and select the appropriate option as your answer.
Statements:
Yashwant = Priya < Ferry = Lakhan = Karan
Conclusions:
I. Ferry = Karan
II. Ferry > Karan
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AFAtafad 92 &, FU=r & are vy fge v §)

TEU 31T Ferell & HTUR T TeTshd T HeTTT Y 3R T Seal & &9 & 39gard [qwed B T4 H
FUA:

Yashwant = Priya < Ferry = Lakhan = Karan

e

I. Ferry = Karan

II. Ferry > Karan

If only Conclusion I follows

A
oo Frend 1 9 §
If only Conclusion II follows
B
Faa Ay 1190 R
If either Conclusion I or II follows
(o}
gafsiionnsas
If neither Conclusion I nor II follows
D

TR I MRTFIITT R

Correct Ans : C

Subject : Mental Ability

Q.No: 83 In the question given below, two statements are given followed by two conclusions I and II. You have to consider the statements to be true even they seem to be at variance f
2439081 commonly known facts. You have to decide which of the given conclusions, if any follow from the given statements.

Statements:

All cookers are crackers.
All snickers are crackers.
Conclusions:

I. All snickers are cookers.

I1. Some crackers are snickers.

A2 fow e g A @ Ty 91 I9S wHid <) Frsed 1quT 11 U U ¥ 1 MUt U TR U B G AFAT © , 4 € 98 ST qul § i uella 9 81 9 Ul $ SR TR ST ST SR & §
FU:

ot FHR TR §

Wit Wy uerd

frsny:

1. 3 Ryaw g B

11. % YRy Riaw 81

Neither conclusion I nor conclusion II follows

T s 1 3R 7 & s 11 SRR R §

Only conclusion II follows

Faa s 11 R0 S &

Both conclusion I and conclusion II follow

Frpy 1 3R P 11 G S/gERwr AR §

Only conclusion I follow

Fad Fepy I SR FRar
Correct Ans : B
Subject : Mental Ability

Q.No: 84 Arrange the following words in a logical and meaningful order.
2442668
1. Writing

2. Distributing

w

. Publishing

4. Printing

w

. Editing
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Fruffea w=di 51 uF aifbe @a orfgel w0 § arafa Fifvm)
1. W

2. famur

3. TR

4. e

5. HureA

1,2,3,4,5

1,2,3,4,5
2,4,3,1,5

2,4,3,1,5
23,451

2,3,45,1
1,5,4,3,2

1,5,4,3,2
Correct Ans : D
Subject : Mental Ability

Q.No: 85 Arrange the following words in a logical and meaningful order.
2442677

1. Wrist

2. Nails

3. Shoulder

4. Elbow

5. Palm

6. Fingers

Frofifea gl & adhgul aur arfe w # srafd Fifm:
1. Palls

2. g

3.%U

4. B

5. g3t

6. sifert

3,5146,2

3,5/1,4,6,2
3,4,1,5,6,2

3,4,1,5,6,2
3,4,1,2,5,6

3,4125,6
3,1,4,2,56

3,1,4,2,5,6
Correct Ans : B

Subject : Mental Ability

Q.No: 86 Which of the following is divisible by 5 and 3?
2427591

Fofafea # @ o1 5 ok 3 3 favrsa 2
A 7660


https://applink.adda247.com/d/XhqWf9lSap

Addai2y7 Eoogle Play

7660

6225

6225

2127

2127
3671

3671
Correct Ans : B

Subject : General Aptitude

Q.No: 87 In the following figure AB is a straight line. Find (x + y):
2431337 D C

55°
A

55°

65°
B

65°

75°
C

75°

80°
D

80°

Correct Ans : B

Subject : General Aptitude

Q.No: 88 If a train runs with the speed of 52 km/h, it reaches its destination late by 15 minutes. However, if its speed is 65 km/h. It is late by 5 minutes only. The right time for the trair
2435976 (over its journey is:

I B 27 52 et / o1 Bt 1fq F Iadh B, A 95 15 e 3t 8 A oA Tider 9% g 81 i, afe 3u@t 1 65 fFH 7 ger 31 Fa@ 5 fiFe 3 &8 81 2 B o A B FR HA H T

40 minutes

A

40 fiFe

45 minutes
B

45 fiFe

30 minutes
Cc

30 e

35minutes
D

35 firFe

Correct Ans : D

Subject : General Aptitude

Q.No: 89 A train 110 meters long is running with a speed of 60 kmph. In what time will it pass a man who is running at 6 kmph in the direction opposite to that in which the train is goi
2436007

110 . @l 27 60 . Ui € Y YRR T W1 3 ¥ 9 FIE wfed T 9 faada R F 6 e ufy 92 9 TR F <rs @1 o o fF 8 39 wfd 9 e &R A uR aRvd TR sy
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A 5 sec
5 3Fs
6 sec
B
6 Jbs
7 sec
C
7 ¥ds
10 sec
D
10 IS5

Correct Ans : B

Subject : General Aptitude

Q.No: 90 A train without stoppage travels with an average speed of 80 km/h and with stoppage, it travels with an average speed of 72 km/h. For how many minutes does the train s
2436016 5y average per hour?

T YA i T (RS 80km/h Tt 3id T § SRR Th & WY 72 kmy/h BT 3id Tfa & e {1 XS, sirae ufd ger fran fire wadt 82

8
A
B
C

7

9
D

9

Correct Ans : B

Subject : General Aptitude

(22“"\‘3‘;09210 Walking at g of his usual speed, a person reaches his office 10 minutes later than the usual

time. His usual time in minutes is:

oF gfFa g gy afa F ; ﬂnﬁ#mgmmwxfmm#wmzﬂ#ﬁw%lm@w
SH, AT THT (A /) &

35
A

35

27
B

27

42
C

42

30
D

30

Correct Ans : A

Subject : General Aptitude

Q.No: 92 B starts 4.5 minutes after A from the same point, for a place at a distance of 3.5 miles from the starting point. A on reaching the destination turns back and walk a mile where
2436053 meets B. If A's speed is a mile in 6 minutes then B's speed is a mile in minutes?

B, A¥ T & 4.5 e a1g It filg & 39 wM & i 9o uRH v 3 e gl mifte fig ¥ 3.5 Hia 31 iy R ugaa A 1 51 § 9k U Hid a& 9o § 961 96 B ¥ e 81 3«
forfe # U@ e 9o 8 < B, e # @ e gam
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A -~
18
12
B
12
15
C
15
9
D
9

Correct Ans : D

Subject : General Aptitude

34“13‘209735 A can do 3th of a work in 4 days and B can do % th of the same work in 5 days. In how
many days can finish the work, if they work together?
A, Py et 7 1o ser 4 R F T wwar § o 3W o w7 Zat aer s R F w1 owwar {1 IR
@ @ e e W Y 5w A @ e R F g aw wwa
12
A
12
20
B
20
15
c
15
30
D
30

Correct Ans : A

Subject : General Aptitude

Q.No: 94 A & B together finish a job in 24 days, while A, B & C together can finish the same job in 8 days. C alone will finish the job in

2436124

A 3R B fPreaR frdt & 3 24 fa1 § FX0 § SR A,B,C e It o 31 8 o & A o g €1 C sipen 39 o Bl e o  gmia v 2

12 days
A

123

14 days
B

14 fF

16 days
C

16 &7

24 days
D

24

Correct Ans : A

Subject : General Aptitude

Q.No: 95  Two boys under take to do a piece of work for Rs.3032. One alone can do it in 6 days, the other in 8 days. With the assistance of a man they finish it in 3 days. Find 2nd Boy'
2436133 ghgre

3 TSP U S Bl 3032 TUY H X P 911 IR §1 TP AP 6 ol H FX 9o 8, GO 8 foill & o waven ©| U@ SneHl &1 weradn § S 39 3 ot o g o o g s o1 e 9@
BRI
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379

379
1137

1137
1516

1516
758

758
Correct Ans : B

Subject : General Aptitude

Q.No: 96 Two numbers are in the ratio 4 : 7. If their HCF is 26, then the sum of these two numbers will be:

2436146

Sl TR ST SUTd 4 @ 7 7 X IAHT HCF 26 B N 37 Temsii &1 deat 1 F1?

312
A

312

286
B

286

333
c

333

364
D

364

Correct Ans : B

Subject : General Aptitude

Q.No: 97  If the seven digit number 3x6349y is divisible by 88, then what will be the value of (2x + 3y}?

2436149
T T Sl B TSI 3x6349y, 88 | fAURT §, A (2x +3y) BT TH T g2
32
A
32
30
B
30
35
c
35
23
D
23

Correct Ans : A

Subject : General Aptitude

Q.No: 98 When a number is divided by 56, the remainder will be 29. If the same number is divided by 8, then the remainder will be -

2444615
3l T 1 56 W 3 W AV 29 1T g1 R I e Bt 8 [ HnT vy S, @ Aw -
6

A
6
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7

5
C

5

3
D

3

Correct Ans : C

Subject : General Aptitude

Q.No: 99 A gets more marks than B but less than C. D gets less marks than E but more than A. If C gets less than D then who amongst A, B, C, D, E gets the highest marks?

2444619

A, B ¥ 3% fg C & T & W TRl §1 D, E & FH g A § 31 3/ U Fal 71 3fe €, D A $W 3iF W Xl §, <l T89S fF A, B, C, D, E T el oifid 3 S U el o2

C
A

C
B

D

E
c

E

B
D

B

Correct Ans : C

Subject : General Aptitude

Q.No: 100 What should come in place of question Mark '?’ in the following number series?

2444659
5,13, 41, 85, 257, ?
Frafafea dem sae ® 7= fag 27 & ®IFA W 3 S
5,13, 41, 85, 257, ?
773
A
773
516
B
516
716
C
716
517
D
517

Correct Ans : D

Subject : General Aptitude
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